8 | 7 1 6 I Yl7 4 i 2
PARTS LIST CASS-TL4 CONCRETE POST ASSEMBLY PARTS LIST CASS-TL4 DRIVEN POST ASSEMBLY ! & TOTAL T SHEET : !
Q7Y |PART No|ITEM TITLE Tos / Each QTY [PART No|[TEM TITLE Tbs / Each RIE SECTIoN SOUNTY | SHEETS | NO.
i 1 |CONCRETE POST - CASS POST 264,40 T | 33957G] 1_|CASS-TL4 POST - DRIVEN 50.62 @\ 55 | 2005-040 GR WILL 18 16
| | 33954G] 2 |CASS-TL4 POST - CONCRETE 34.50 7 | B5707T| 2 |CASS-TL- POST STRAP 0.23 STA. STA.
1| 339688] 3 _|POST SLEEVE - CONGRETE POST 8.00 2 | 57038 3 [CASS-TL4 CABLE SPAGER 0.24 r — %ﬁﬁﬁgﬂjg B e e
2 | 5703B| 4_|CASS-TL4 CABLE SPACER 0.24) "
{ | 57088] 5 |SLEEVE COVER - CASS-TL POST, 0.11]
1 57077] 6 _|CASS-TL - POST STRAP 0.23 '
2| 6901B| 7 [#4 REBAR - SYSTEM POST 145 3/4" CABLE FIELD SPLICE - 5634G & 5635G
i 5747B] 7 |SLEEVE CAP - CASS-TL POST 0.14 (5634G SHOWN, 5635G SIMILAR)
| _5536B] 8 |CONCRETE REINFORCING RING 0.88
PARTS LIST - 5634G
QY [PART No|ITEM TITLE [bs / Each
1 7 |3/4" STUD FLATTENED - LH.T. 162
1 | _4190G] 2 |CABLE END CASTING 3.78 LEFT HANDED THREADED ROD
1 41998 3 [3/4" CABLE WEDGE (3x7) 0.08 SHOWN, RIGHT HANDED
1| 4355G] 4 |3/4" HEAVY SQUARE NUT (A663) 026 THREADED ROD PART No. -G
1 | 5 [3/4"CABLE 3x7) 1.08

1" CABLE FIELD SPLICE - 5908G & 5910G

(5909G SHOWN, 5910G SIMILAR)

ASSEMBLY VIEW - 5634G
{5634G SHOWN, 5635G SIMILAR)

PARTS LIST - 5910G
" o QTY [PART No{ITEM TITLE Lbs / Each
’ 3537G| 1 |1 STUD FLATTENED - L.H.T. 2.88
3022G| 2 . {1* CABLE END CASTING 0.56
1 3008G| 3 |1" HEAVY HEX NUT (A563 DH) 0.47 LEFT HANDED THREADED ROD
1 41998{ 4 [3/4" CABLE WEDGE (3x 7| 0.08
] 5 |3/4° CABLE (3 X 7) Bx7) SHOWN, RIGHT HANDED
3 \5 THREADED ROD PART No. 3536G
\_// 4 ASSEMBLY VIEW - 5909G
/ (5909G SHOWN, 5910G SIMILAR)
- CASS-TL4 POST - DRIVEN
/ (POST OPTION #4 - DRIVEN)
3/4" CABLE SPLICE - 5698G
(OPEN BODY STYLE)
PARTS LIST - 5698G
QTY {PART Nol|TEM TITLE Lbs / Each
1 5711G] 1 }3/4" TURNBUCKLE OPEN BODY STYLE 10.63
1 5634G] 2 [3/4".STUD ASSEMBLY LH.T. 5.74
\/ 1 5635G] 3 {3/4" STUD ASSEMBLY R.H.T. 5.74

CASS-TL4 POST - IN CONCRETE B =
(POST OPTION #3 - CAST IN PLACE) %
/

NOTES:

PRE-CAST CONCRETE POST ASSEMBLY

(POST OPTION #3 - PRE-CAST OPTION)

@\ 1" CABLE SPLICE - 5633G
(CLOSED BODY STYLE) IN LIEU OF BLACK SPACER 57038 SUPPLY YELLOW SPACER 57058 OR
i P WHITE SPACER 5706B. (AS REQUIRED PER PROJECT PLANS)
/® QTY [PART No] [TEM TITLE [bs / Each IF REQUIRED PER PROJECT PLANS SUPPLY:
1 5826G] 1 |1" CASS TURNBUCKLE CLOSED BODY STYLE 481 CABLE PULLING TOOL 58508
; q 5905G] 2 |1" 5TUD ASSEMBLY LH.T. 3.95 CABLE TENSIONING METER 58498 OR 58788
\—/ 1 59106] 3 |1" STUD ASSEMBLY R.H.T. 395 CABLE THERMOMETER 5709H

PARTS LIST - PRE-CAST CONCRETE FOOTING
QTY | PART No[ITEM} TITLE Lbs / Each lGALvSPEC:
1 CONCRETE POST - CASS POST 264.40 CASS-TL4 SHIPPING W1
1 339688 POST SLEEVE - CONCRETE POST 8.00 :
1 58368 CONGRETE REINFORCING RING 0.88 CABLE GUARDRAIL
4 58768 4 |#3 REEAR - CONCRETE FOOTING 0.82 SAFETY SYSTEM

. TRINITY HIGHWAY SAFETY
NP PRODUCTS, INC.
T

[ProdcASS-TL4




